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11-7 Test Review

Solve each equation.

n
) 1=—+5
) 3

3) 4(1+3x)—4=96

5) 4x—14=-8—2x

7) —2x —7(6x + 4) =336

9) —(4—8m)+2(-4m+7)=13
11) 5+3x=2+3x

13) 86 -3=-13+6b

Solve each inequality and graph its solution.

15) 1322

18 19 20 21 22 23 24 25 26 27 28

17) 102 <6(3 —2v)

-12 -10 -8 ) -4

19) —8n+34<3(2 - 5n)

9 8 -7 -6 -5 -4 -3 2 -1 0 1

A1l rights

Name 1D:

reserve d.

Date Period

2) -4(v-8)=38

4) =56 =4(-1—4b) - 4(7b + 2)
6) —4(—6 + 5x) =3x—22

8) 5x—2(3-3x)=82

10) -8 =—4(m — 4) + 4(6 — 3m)
12) 5v—1=-8+6v

14) 1-6n+3=4-6n

16) 3+§>6

6 7 8 9 10 11 12 13 14 15 16

18) —2(1 — 6v) > —98
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Answers to 11-7 Test Review (ID: 1)

1) [-12] 2) l6] 3) (8] 4 1]

5) {1} 6) {2| 7 17} 8) (8]

9) No solution. 10) {3} 11) No solution. 12) {7}

13) -5} 14) { All real numbers. }

15) x<20 ! <ttt 16) b>9: v+ o >
18 20 22 24 26 28 6 8 10 12 14 16

17) VS_7: & .: et 18) V>_8: e :$ >
12 -10 -8 -6 -4 12 -10 -8 -6 -4

19)I’l<—4' A 3:::: + 20)m§—4' : .::::
8 6 4 2 0 S0 -8 6 -4 -2 0
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